Reading Comprehension, Level 1I
Area F TSICL Convention 2004

Passage A: A Visit to the Realms of Pluto

Unus refinguébatur € duodecim labdribus quos Pythia Herculi imperavit.
Eurystheus Herculern mégnopere timébat et sé ab ed in perpetuum liberdre
volébat. Idssit igitur eumn canem Cerberum ex Orcd in lucem trahere. Is canis
aditum atque exitum Orci cdstodiébat. Et Herculés et Eurysthieus intelléxérunt
hunc fabdrem omnium difficillimum esse; némd umaguam ex Orco redierat. 5
Praetered, Cerberus ipse monstrum erat horribill aspectd, qui tria capita
serpentibus cincta habébat.

Herculés postguam imperia régis accépit, statim in Laconiam sé contulft.
Ibi invénit spéluncam ingenti magnitidine per guam hominés ad Orcum
déscendébant. EO ubi vénit et ex incolis locum spéluncae quaesivit ac 10
repperit, sine mord déscendere constituit, Nec tamen solus iter fécit; Mercurius
et Minerva sé ei aditinxérunt, Ubi ad riparm Stygis pervénit, cognovit niflum
pontem in fidmine esse. Manés mortudrum trans flumen & Charonte quodam
trénsportati sunt, qui ad ripam cum parva nave exspectdbat. Charon pro hoc
officid praemium postuldbat. Harnc ob causarm mos erat apud antiquds 15
nummum in ore mortur ponere.

Laconia, -3e ~a region of Greece
Orcus, -F— The Underworld
nummus, -f— coin

Pick the best answer.

1. Which labor of Hercules is described in this passage?
A, first B. fifth C. eighth  D. twelfth

2. To what does guosrefer in line 17
A. unus B. /laboribus C. Herculi D. Pythia

3. What was Eurystheus wishing in lines 2 and 3?
A. that Hercules would become king
B. that Pythia would fall in love with him
C. that he could live happily forever
D. that he would be free from Hercules forever



2004 Area F Reading Comprehension Level 11

4. What did Eurystheus order Hercules to do?
A. to drag Cerberus into the light
B. to give Cerberus a bath
C. to wrestle with Orcus for Cerberus
D. to take Cerberus to Orcus

5. What did this dog guard?
A. the entrance to the Underworld
B. the exit of the Underworld
C. both of the above
D. none of the above

6. Is canisin line 3 refers to what?
A. eum (line 3) B. perpetuum (line 2)
C. Cerberum (line 3) D. magnopere (line 2)

7. What did both Hercules and Eurystheus understand? (lines 5-6)
A. All work is very hard. B. This labor was the hardest of all.
C. Cerberus does very hard work.
D. Everything is very hard work when you're in the Underworld.

8. How many people had done what Eurystheus asked of Hercules before?
A O B. 1 C. 2 D. 3

9. What is the best translation of Aorribilil aspect in line 6?
A. to horrible appearance B. for horrible appearance
C. of horrible appearance D. in horrible appearance

10. Where did Hercules go after receiving the orders of the king (line 8)?
A. Laconia B. Imperia C. Sparta D. Athens

11. What did he find there? (line 9)
A acave B. alake C, acottage D. a snow-drift

12. To what does guam refer in line 87
A. speluncam (line 8) B. fomines (line 8)
C. magnitudine (line 8)  C. Hercules (line 7)

13. Who told Hercules where to find the answer to question 11?
A. the farmers B. the poets
C. the plowmen D. the inhabitants

3]
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14. Who joined Hercuies in his descent to the underworld?
A. Minerva B. Mercury
C. noone D. both A&B

15, What did Hercules look for when he reached the bank of the Styx?
A. water B. food C. acoin D. a bridge

16. Who carried the spirits of the dead across the river?
A. Styx B. Charon C. Hercules D. Mercury

17. To whom does gu/refer in line 14?
A. Styx B. Charon C. Hercules D. Mercury

18. How big was his ship?
A. very small B. small C. large D. very large

19. What did he demand because of this job?
A. favors B. a prize C. immortality D. repose

20. What was it the custom to put in the mouths of dead people?
A. acoin B, adog C. water D. embalming fluid

Passage B: The Divisions and Peoples of Gaul (from Julius Caesar’s
Commentarii de Bello Gallico, Book 1.1)

Gallia est omnis divisa in partis tris, qudrum dnam incolunt Belgae, aliam
Aquitani, tertiam, qui ipsGrum lingud Celtae, nostrd Galli appellantur. Hi ormnés
lingud, instititis, legibus inter s differunt. Gallos ab Aquitamis Garumna fldmen,
& Belgis Matrona et Séquana dividit,

Horum omnium fortissimi sunt Belgae, proptered guod d cultii 5
atque hamanitate Provinciae longissimé absunt, minimégue sasepe mercstorss ad
eds commeant, atque ea, quae ad efféminandds animos pertinent, important;
proximique sunt Germanis, qui trdns Rhénum incolunt, guibuscum continenter
bellumn gerunt, Qua dé causd Helvetit guogque reliquds Gallds virtdte praecédunt,
quod feré cotididnis proeliis cum Germanis contendunt, cum aut suis finibus 10
e0s prohibent, aut ipsi in ecrum finibus bellum gerunt,

commed, cormmeare ~1o go to and fro
efferning, effernindre —to weaken

pertined, pertinére —to pertain, concern; extend
pracceds, praecedere - to surpass

feré —almost

divés, divitis —rich, wealthy
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Pick the best answer.

21. Into how many parts does Caesar divide Gaul?
A. thirty-one B. three C. thirteen D. thirty

22. Which of the following does NOT name one of Caesar’s divisions?
A. Belgae B. Gali C. Matrona D. Aquitani

23. Nostrd in line 2 agrees with ...
A. Galfi B. Celtae C. lingug D. [psorum

24. What differentiates these parts?
A. language B. customs C. laws D. all of the above

25. What things divide these parts?
A. rivers B. mountains C. lakes D. hills

26. What group does Caesar consider the bravest?
A. Galli B. Celfae C. Matrona D. Belgae

27. Why does Caesar believe them to be bravest?
A. because they are closest to the Province
B. because merchants visit them very often
C. both of the above D. neither of the above

28. The best translation for proximique sunt Germanis qui trans Rhénum
incoluntin line 8 is...
A. and the Germans are the nearest who live across the Rhine
B. and they are nearest to the Germans who live across the Rhine
C. and those who live across the Rhine are farthest from the Germans
D. and those who cultivate the land across the Rhine are farthest from
the Germans

29. With whom do the Belgae fight?
A. Galll B. Celtae C. Germani D. Aguitani

30. The best translation for virfufe (line 9) is
A, with excellence B. inexcellence C. from excellence
D. on excellence

31, The best translation for cumin line 10 is
A. with B. when C. since D. although
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32. Suis inline 10 refers to the
A. Helvetii B. Germani C. Belgae D. Aquitani

33. E0sin line 10 refers to the
A. Helvetii B, Germani C. Belgae D. Aquitani

34. The best translation for jpsi in edrum finibus belfum geruntin line 11 is
A. The same ones wage war in their own territory.
B. They themselves wage war in their territory.
C. They themselves wage war in their own territory.
D. Those men wage war in his territory.

Passage C: Pliny and the Christians

The Christians were punished, not because of their belief in Christ, but because
they refused to worship the emperor. Emperor worship was the main unifying
force in the empire and was regarded as a rigid obligation.

"Mos est mihi, dornine omnia dé quibus dubitd ad té referre, ut mé
cunctatem regas vel ignorantem instruas. Itaque nunc dé Christianis ad té
scribg, gquorum in hac provincid magnus est numerts. Interim né mihi jpsi
consifium deesse videatur, in eis qui ad mé deferébantur hunc sum secutus
modum. ‘Estisne Christiani?” rogavi. EOs qui confessi sunt fterum rogévi, 5
poenas mindtus sum, omnés qui dé sententid ndn discessérunt, ad supplicium
rahi iussi; putavi enim constantiam certe edrum dignam esse supplicid. Fuérunt
alii eiusdem opinionis quds, quod civés Romani erant, non (pse in iudicium vocavi
sed Romarm misi.,

“Wuper ad mé periatus est libeflus sine auctoris nomine, qud multi 10
accusdbantur, Quibus ad iudicium vocdlis, eds dimisi qui in hdc discrimine
negabant s€é aut esse Christiands aut fuisse, et qui facuftate datd deds
appellavérunt; narm ef gui sunt re verd Christidni numguarm, ut arbitror, hoc
facere cogi possunt,”

Pick the best answer.

35. Who is of higher rank?

A. the speaker (I) B. the recipient of the letter (you)
C. both are of the same rank D. There is no ranking system.

36. The speaker makes permanent, independent decisions.
A. True B. False

37. To what does guorumin line 3 refer?
A. ignorantem (line 2) B. Christignis (line 2)
C. numerus (line 3) D. provincia (line 3)
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38. There are no Christians in this province,
A. True B. False

39. Until the recipient receives this letter what is the speaker going to do about
the problem?

ignore it

have all the Christians punished

set all the Christians free

punishe the Christians who confessed and send the Roman citizens to
Rome

o w»

40. Why did the speaker do this?
A. He thought he could get away with it.
B. He was about to leave so he could be cruel.
C. So as not to seem like he didn't know what to do.
D. The prisons were filling up.

41. How did he find the Christians he was prosecuting in the first paragraph?
A. They were sent down to him.
B. He went undercover to find them.
C. He sent soldiers to search ali the houses for crosses.
D. He broke up a rally.

42. The speaker gave Christians only one chance to deny their Christianity.
A, True B. False

43. What does the speaker say is worthy of punishment?
A. Christianity B. steadfastness C. opinion D. Roman citizenship

44, Does the speaker doubt the truth of the /ibelfus when it is received in line
107

A. yes B. no

45. To what does egrum refer in line 77

A. constantiam (line 7) B. gui(line 6)
C. supplicium (line 6) D. a/i(line 8)

46. What Latin phrase proves the answer to #44?

qua multi accusabantur (lines 10-11)

ut arbitror (line 13)

numaquam...hoc facere cogi possunt (lines 13-14)
sine auctdris nomine (line 10)

Onw>
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47. When did the speaker receive this /ibellus?
A. along time ago B. vesterday C. recently D. a week ago

48. To what does gud refer to in line 107
A. mé(line 10) B. auwctoris (line 10) C. nomine (line 10) D. /ibellus (line 10)

49. Which people does the speaker send away without punishment?
I. those who denied that they were Christians

I1. those who could prove that they had not been to a church last Sunday
1II.  those who called upon the pagan gods

A. Tonly

B. Iand II

C. Tand III

D. III only

50. This letter was written by an emperor, telling a provincial governor how to
deal with an acute problem.

A. True B. False

Tie-breakers: The following will only be scored in the event of a tie.
Questions 96-100 refer to passage C. Pick the best answer from the
following choices:

A. True B. False C. Not answered by the passage

96. The Christians are causing problems.

97. Christianity is illegal in this society.

98. The speaker has complete authority in this province.

99. The speaker believes that true Christians wouldn’t recognize other gods.

100. A Christian could NOT be punished for being a Christian at the present
time.



